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m54158_180129_044143/70517296 0 0 1 0 0 0 0 0 0 0
ENSMUST00000108238.7 2 16 | 14 3 1 3 14 8
ENSMUST00000142519.2 0 0 0 0 0 0 0 0
ENSMUST00000138128.2 0 0 0 0 0 0 0 0

m54158 180204_042704/24641956 0 0 8 0 0 0 0 0

ENSMUST00000108237.1 0 0 0 0 0 0 0 0
m54158 171203_065845/6816354 0 1 0 0 0 1 0 0
m54158 171204_204421/60752716 1 7 1 0 0 0 1 0
ENSMUST00000032809.9 0 4 1 0 1 3 4 2

0-10 molecules per million

10-100 molecules per million

100-1000 molecules per million
B  >=1000 molecules per million



